=t A
2.491 6.071 3.338 2.505 4.755
3 X 7 X 6 X 7 X 4
7.173 4.36 1.51 7.126 9.556
4 X 3 X 5 X 3 X 8
3.848 5.68 2.479 8.707 9.252
7 X 7 X 9 X 2 x 4
6.096 3.144 8.833 4.359 7.781
8 X 2 X 9 X 8 X 8
8.684 6.024 7.583 7.069 2.644
7 X 2 X 7 X 4 X 5
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o, MY B (3K AT )
0| &: =R =

2.491 6.071 3.338 2.505 4.755

X 3 X 7 X 6 X 7 X 4
7.473 42.497 20.028 17.535 19.02
7.173 4.36 1.51 7.126 9.556

X 4 X 3 X 5 X 3 X 8
28.692 13.08 7.55 21.378 76.448
3.848 5.68 2.479 8.707 9.252

X 7 X 7 X 9 X 2 X 4
26.936 39.76 22.311 17.414 37.008
6.096 3.144 8.833 4,359 7.781

X 8 X 2 X 9 X 8 X 8
48.768 6.288 79.497 34.872 62.248
8.684 6.024 7.583 7.069 2.644

X 7 X 2 x 7 X 4 X 5
60.788 12.048 53.081 28.276 13.22
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